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funsZ’k % & 1. ijh{kkFkhZ vius vuqØekad] fo”k; ,oa Á’uiqfLrdk dh fljht dk fooj.k ;FkkLFkku lgh& lgh Hkjsa] vU;Fkk 

ewY;akdu esa fdlh Hkh Ádkj dh folaxfr dh n’kk esa mldh ftEesnkjh Lo;a ijh{kkFkhZ dh gksxhA 
 2. bl Á’uiqfLrdk esa 100 Á’u gSa] ftues ls dsoy 75 Á’uksa ds mRrj ijh{kkfFkZ;ksa }kjk fn;s tkus gSA ÁR;sd 

Á’u ds pkj oSdfYid mRrj Á’u ds uhps fn;s x;s gSaA bu pkjksa esa ls dsoy ,d gh mRrj lgh gSA ftl 

mRrj dks vki lgh ;k lcls mfpr le>rs gSa] vius mRrj i=d (O.M.R. ANSWER SHEET) 
esa mlds v{kj okys oR̀r dks dkys ;k uhys cky IokabV isu ls iwjk Hkj nsaA ;fn fdlh ijh{kkFkhZ }kjk 

fu/kkZfjr Á’uksa ls vf/kd Á’uksa ds mRrj fn;s tkrs gSa rks mlds }kjk gy fd;s x;s ÁFker% ;Fkk fufnZ”V 

Á’uksRrjksa dk gh ewY;kadu fd;k tk;sxkA 

 3. ÁR;sd Á’u ds vad leku gSaA vki ds ftrus mRrj lgh gksaxs] mUgha ds vuqlkj vad Ánku fd;s tk;saxsA 

 4. lHkh mRrj dsoy vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij gh fn;s tkus gSaA 

mRrj i=d esa fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k mRrj ekU; ugha gksxkA 

 5. vksŒ,eŒvkjŒ mRrj i=d (O.M.R. ANSWER SHEET) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s 

x;s lHkh vuqns’kksa dks lko/kkuhiwoZd i<+ fy;k tk;A  

 6. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks viuh Á’uiqfLrdk cqdysV ,oa vksŒ,eŒvkjŒ ‘khV 

iF̀kd&iF̀kd miyC/k djkus ds ckn gh ijh{kk d{k ls ÁLFkku djsaA 

 7. fuxsfVo ekfdZax ugha gSA 

egRoiw.kZ % &  Á’uiqfLrdk [kksyus ij ÁFker% tkWp dj ns[k ysa fd Á’uiqfLrdk ds lHkh i”̀B HkyhHkkWfr Nis gq, gSaA ;fn 

Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh fljht dh nwljh Á’uiqfLrdk ÁkIr dj 

ysaA 
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1. The banking system in India has: 
(A)   Two tiers 
(B) Three tiers 
(C) Four Tiers 
(D) Five Tiers 

 1. Hkkjr esa cSafdax iz.kkyh gS% 
(A) f}Lrjh; 
(B) r̀Lrjh; 
(C) prqFkZLrjh; 
(D) iape Lrjh; 

2. The central banking Institution in India is: 
(A)   The Reserve Bank of India 
(B) Finance Commission 
(C) Niti Commission 
(D) State Bank of India 

 2. Hkkjr esa dsUnzh; cSafdax laLFkk gS% 
(A) fjtoZ cSad vkQ bf.M;k 
(B) foŸk vk;ksx 
(C) uhfr vk;ksx 
(D) LVsV cSad vkQ bf.M;k 

3. The lifeline of the modern economy is: 
(A)   Banking Sector 
(B) Insurance Sector 
(C) Health Sector 
(D) All the above 

 3. vk/kqfud vFkZO;oLFkk dh thou js[kk gS% 
(A) cSafdax {ks=  
(B) chek {ks= 
(C) LokLF; {ks= 
(D) mijksDr lHkh 

4. Who of the following regulates the banking 
system in India: 
(A)   C. B. D. T. 
(B) Department of Revenue 
(C) Reserve Bank of India 
(D) None of the above 

 4. Hkkjr esa cSafdax iz.kkyh dk fofu;eu fuEu es ls dkSu 
djrk gS\ 
(A) lhŒ chŒ MhŒ VhŒ 
(B) jktLo foHkkx 
(C) fjtoZ cSad vkQ bf.M;k 
(D) mijksDr esa ls dksbZ ugh 

5. Organized banking sector is classified into: 
(A)   Two category 
(B) Three category 
(C) Four category 
(D) Five category 

 5. laxfBr cSafdax {ks= foHkkftr gS% 
(A) nks Js.kh 
(B) rhu Js.kh 
(C) pkj Js.kh 
(D) ik¡p Js.kh 

6. Which of the following bank was the oldest 
bank of India: 
(A)   The General Bank of India 
(B) The Bank of Hindustan 
(C) The Reserve Bank of India 
(D) The State Bank of India 

 6. fuEu es ls dkSu Hkkjr dk lcls iqjkuk cSad Fkk% 
(A) tujy cSad vkQ bf.M;k 
(B) cSad vkQ fgUnqLrku 
(C) fjtoZ cSad vkQ bf.M;k 
(D) LVsV cSad vkQ bf.M;k 

7. The banking system in India started in: 
(A)   1770 
(B) 1786 
(C) 1791 
(D) 1881 

 7. Hkkjr esa cSafdx iz.kkyh izkjEHk gqbZ% 
(A) 1770 
(B) 1786 
(C) 1791 
(D) 1881 

8. The banking system in India started at: 
(A)   Madras 
(B) Bombay 
(C) Calcutta 
(D) Delhi 

 8. 
 
 

Hkkjr esa cSafdax iz.kkyh izkjEHk gqbZ% 
(A) enzkl 
(B) ckEcs 
(C) dydŸkk 
(D) fnYyh 

9. Which of the following was the first commercial 
bank of India? 
(A)   Bank of Hindustan 
(B) General Bank of India 
(C) Oudh Commercial Bank   
(D) Punjab National Bank 

 9. fuEu es ls dkSu lk cSad Hkkjr dk izFke okf.kfT;d 
cSad Fkk% 
(A) cSad vkQ fgUnqLrku 
(B) tujy cSad vkQ bf.M;k 
(C) vo/k def’kZ;y cSad 
(D) iatkc us’kuy cSad 
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10. Which of the following bank was merged into 
imperial bank of India: 
(A)   Bank of Bengal 
(B) Bank of Bombay 
(C) Bank of Madras 
(D) All the above 

 10. fuEu esa ls dkSu ls cSad dk foy;u bEihfj;y cSad 
vkQ bf.M;k esa gqvk% 
(A) cSad vkQ caxky 
(B) cSad vkQ ckEcs 
(C) cSad vkQ enzkl 
(D) mijksDr lHkh 

11. Which of the following is not correctly matched: 
(A)   Bank of Bengal- 1806 
(B) Bank of Bombay- 1840 
(C) Bank of Madras- 1800 
(D) Allahabad Bank- 1865 

 11. fuEu esa dkSu lgh lqesfyr ugha gS% 
(A) cSad vkQ caxky& 1806 
(B) cSad vkQ ckEcs& 1840 
(C) cSad vkQ enzkl& 1800 
(D) bykgkckn cSad& 1865 

12. The imperial bank of India was renamed as: 
(A)   Oriental Bank of Commerce 
(B) Punjab National Bank 
(C) Reserve Bank of India 
(D) None of the above 

 12. bEihfj;y cSad vkQ bf.M;k dk iqu% ukedj.k :i esa 
gqvk% 
(A) vksfj,.Vy cSad vkQ dkelZ 
(B) iatkc us’kuy cSad 
(C) fjtoZ cSad vkQ bf.M;k 
(D) mijksDr esa ls dksbZ ugh 

13. The Reserve Bank of India was established in: 
(A)   1935 
(B) 1947 
(C) 1950 
(D) 1956 

 13. fjtoZ cSad vkQ bf.M;k dh LFkkiuk dh xbZ% 
(A) 1935 
(B) 1947 
(C) 1950 
(D) 1956 

14. The Reserve Bank of India was nationalized in: 
(A)   1949 
(B) 1956 
(C) 1969 
(D) None of the above 

 14. fjtoZ cSad vkQ bf.M;k dk jk”Vªhdj.k fd;k x;k% 
(A) 1949 
(B) 1956 
(C) 1969 
(D) mijksDr es ls dksbZ ugh 

15. How many banks were nationalized in 1969:  
(A)   11 
(B) 13 
(C) 14 
(D) 17  

 15. 1969 es fdrus cSadksa dk jk”Vªhdj.k fd;k x;k% 
(A) 11  
(B) 13 
(C) 14 
(D) 17 

16. Regional Rural Banks were Constituted in: 
(A)   1970 
(B) 1975 
(C) 1980 
(D) 1991 

 16. {ks=h; xzkeh.k cSadksa dh LFkkiuk dh xbZ% 
(A) 1970 
(B) 1975 
(C) 1980 
(D) 1991 

17. NABARD was established in: 
(A)   1974 
(B) 1980 
(C) 1981 
(D) 1982 

 17. ukckMZ dh LFkkiuk dh xbZ% 
(A) 1974 
(B) 1980 
(C) 1981 
(D) 1982 

18. Who of the following started first payments 
bank in India: 
(A)   Bharti Airtel 
(B) Paytm 
(C) Google Pay 
(D) None of the above 

 18. fuEu esa ls dkSu Hkkjr es loZizFke Hkqxrku cSad izkjEHk 
fd;k% 
(A) Hkkjrh ,;jVsy 
(B) isVh,e 
(C) xwxy is 
(D) mijksDr esa ls dksbZ ugh 
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19. Which of the following is the largest and oldest 
bank in existance is: 
(A)   State Bank of India 
(B) Reserve bank of India 
(C) Allahabad Bank 
(D) Punjab National Bank 

 19. fuEu es ls dkSu Hkkjr dk lcls cM+k ,oa iqjkuk cSad 
gS rks vHkh vfLrRo esa gS% 
(A) LVsV cSad vkQ bf.M;k 
(B) fjtoZ cSad vkQ bf.M;k 
(C) bykgkckn cSad 
(D) iatkc us’kuy cSad 

20. Reserve Bank of India Act 1934 came into force 
on : 
(A)   April 1, 1934 
(B)  April 1, 1935 
(C)  April 1, 1936 
(D)  April 1, 1937 

 20. fjtoZ cSad vkQ bf.M;k vf/kfu;e 1934 izofrZr gqvk% 
(A) vizSy 1] 1934 
(B) vizSy 1] 1935 
(C) vizSy 1] 1936 
(D) vizSy 1] 1937 

21. Which of the following is not correctly matched: 
(A)   Public Sector Bank-12 
(B) Private Sector Bank-22 
(C) Foreign Banks-46 
(D) None of the above 

 21. fuEu es ls dkSu lgh lqesfyr ugh gS% 
(A) lkoZtfud {ks= ds cSad&12 
(B) futh {ks= ds cSad&22 
(C) fons’kh cSad&46 
(D) mijksDr esa ls dksbZ ugh 

22. Which of the following bank is known as bank 
of banks: 
(A)   State Bank of India  
(B) Reserve Bank of India 
(C) Both (a) and (b) 
(D) none of the above 

 22. fuEu es ls dkSu lh cSad cSadks dh cSad ds :i esa Kkr gS% 
(A) LVsV cSad vkQ bf.M;k 
(B) fjtoZ cSad vkQ bf.M;k 
(C) (a) vkSj (b) nksuks 
(D) mijksDr es ls dksbZ ugh 

23. Which of the following is correctly matched: 
(A)   Regional Rural Bank-1485 
(B) Foreign Bank-56 
(C) Urban cooperative Bank -5000 
(D) None of the above 

 23. fuEu es ls dkSu lgh lqesfyr gS% 
(A) {ks=h; xzkeh.k cSad&1485 
(B) fons’kh cSad&56 
(C) uxjh; lgdkjh cSad&5000 
(D) mijksDr es ls dksbZ ugh 

24. Which of the following bank was founded by the 
presidency Government: 
(A)   Bank of Bengal 
(B) Bank of Bombay 
(C) Bank of madras 
(D) All the above 

 24. fuEu es ls dkSu lh cSad dh LFkkiuk izslhMsUlh 
ljdkj }kjk dh xbZ% 
(A) cSad vkQ caxky 
(B) cSad vkQ ckEcs 
(C) cSad vkQ enzkl 
(D) mijksDr lHkh 

25. The relationship between a customer and bank 
is based on: 
(A)   Contract 
(B) Custom 
(C) Law 
(D) All of the above 

 25. miHkksDrk ,oa cSad ds e/; lEcU/k vk/kkfjr gS% 
(A) lafonk ij 
(B) :f<+ ij 
(C) fof/k ij 
(D) mijksDr lHkh 

26. Which of the following Act is not helpful to bank 
customer: 
(A)   The consumer Protection Act 
(B) The Limitation Act 
(C) The Indian contract Act 
(D) None of the above 

 26. fuEu es ls dkSu vf/kfu;e cSad miHkksDrk ds fy, 
lgk;d ugh gS% 
(A) miHkksDrk laj{k.k vf/kfu;e 
(B) ifjlhek vf/kfu;e 
(C) Hkkjrh; lafonk vf/kfu;e 
(D) mijksDr es ls dksbZ ugh 

27. In the transaction of locker bank is: 
(A)   Lessee 
(B) Bailee 
(C) Debtor 
(D) None of the above 

 27. ykdj ds laO;ogkj esa cSad gS% 
(A) iV~Vk/kkjh 
(B) mifufgrh 
(C) nsunkj 
(D) mijksDr es ls dksbZ ugh 
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28. In the transaction of Loan customer is: 
(A)   Creditor 
(B) Bailor 
(C) Lessor 
(D) None of the above 

 28. _.k ds laO;ogkj esa miHkksDrk gS% 
(A) ysunkj 
(B) mifu/kkrk 
(C) iêkdŸkkZ 
(D) mijksDr es ls dksbZ ugh 

29. In the transaction of cheque collection bank 
works as:  
(A)   Agent 
(B) Principal 
(C) Lessor 
(D) Bailee 

 29. psd laxzg ds laO;ogkj es cSad ds :i es dk;Z djrk gS% 
(A) vfHkdŸkkZ 
(B) Lokeh 
(C) iêkdŸkkZ 
(D) mifufgrh 

30. FEMA relates to: 
(A)   Reserve Exchange 
(B) Foreign Exchange 
(C) Both (A) and (B) 
(D) None of the above 

 30. Qsek lEcfU/kr gS% 
(A) vkjf{kr fofue; 
(B) fons’kh fofue; 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

31. Foreign Exchange means: 
(A)   Foreign Currency 
(B) Drafts drawn by banks outside India but 

payable in Indian currency 
(C) Both (A) and (B) 
(D) None of the above   

 31. fons’kh fofu;e ls vfHkizsr gS% 
(A) fons’kh eqnz 
(B) Hkkjr ds ckgj fLFkr cSad }kjk tkjh Mªk¶Vl 

ftudk Hkqxrku Hkkjrh; eqnzk es gksxkA 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

32. Person includes under FEMA: 
(A)   A Company 
(B) A Firm 
(C) A Hindu Undivided Family 
(D) All the above 

 32. Qsek ds v/khu O;fDr es lfEefyr gS% 
(A) ,d dEiuh 
(B) ,d QeZ 
(C) ,d fgUnw vfoHkkftr ifjokj 
(D) mijksDr lHkh 

33. FEMA came into force on: 
(A)   June 1, 1999 
(B) May 1, 1999 
(C) June 1, 2000 
(D) May 1, 2000 

 33. Qsek izofrZr gqvk% 
(A) ebZ 1] 1999 
(B) twu 1] 1999 
(C) twu 1] 2000 
(D) ebZ 1] 2000 

34. FEMA contains: 
(A)   49 Sections 
(B) 40 Sections 
(C) 59 Sections 
(D) 51 Sections 

 34. Qsek es lekfo”V gS% 
(A) 49 /kkjk,a 
(B) 40 /kkjk,a 
(C) 59 /kkjk,a 
(D) 51 /kkjk,a 

35. Which of the following is not correctly matched: 
(A)   Directorate of Enforcement- 46 
(B) Civil Court Jurisdiction- 34  
(C) Penalties- 13 
(D) None  of the above 

 35. fuEu es ls dkSu lgh lqesfyr ugh gS% 
(A) izorZu funs’kky;& 46 
(B) flfoy U;k;ky; {ks=kf/kdkj& 34 
(C) ‘kkfLr;k¡& 13 
(D) mijksDr es ls dksbZ ugh 

36. Which of the following is correctly matched: 
(A)   Holding of Foreign Exchange- 04 
(B) Authorised Person- 10 
(C) Appeal to High Court- 35 
(D) All the above 

 36. fuEu es ls dkSu lgh lqesfyr gS% 
(A) fons’kh fofu;e dk /kkj.k& 04 
(B) izkf/kÑr O;fDr& 10 
(C) mPp U;k;ky; es vihy& 35 
(D) mijksDr lHkh 
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37. Act number of the banking regulation Act 1949 is: 
(A)   09 
(B) 10 
(C) 11 
(D) 15  

 37. cSafdax fofu;eu vf/kfu;e 1949 dk vf/kfu;e la[;k gS% 
(A) 09 
(B) 10 
(C) 11 
(D) 15 

38. The banking regulation Act 1949 contains: 
(A)   05 Chapter 
(B) 07 Chapter 
(C) 08 Chapter 
(D) 10 Chapter 

 38. cSafdax fofu;eu vf/kfu;e 1949 es lekfgr gS% 
(A) 05 v/;k; 
(B) 07 v/;k; 
(C) 08 v/;k; 
(D) 10 v/;k; 

39. Which of the following section of The Banking 
Regulation Act 1949 deals with cognizance of 
the offences: 
(A)   45 
(B) 46 
(C) 47 
(D) 49  

 39. fuEu es ls cSafdax fofu;eu vf/kfu;e 1949 dh dkSu 
lh /kkjk vijk/kksa ds laKku ls lEcfU/kr gS% 
(A) 45 
(B) 46 
(C) 47 
(D) 49 

40. The Banking Regulation Act came into force on: 
(A)   Jan. 10, 1949 
(B) Feb. 10, 1949 
(C) March 10, 1949 
(D) April 10, 1949 

 40. cSafdax fofu;eu vf/kfu;e izofrZr gqvk% 
(A) tuojh 10] 1949 
(B) Qjojh 10] 1949 
(C) ekpZ 10] 1949 
(D) vizSy 10] 1949 

41. Which of the following is not correctly matched: 
(A)   Prohibition of trading- 08 
(B) Restriction on loans- 20 
(C) Assets in India- 25 
(D) None of the above 

 41. fuEu es ls dkSu lgh lqesfyr ugh gS% 
(A) dkjckj ij izfr”ks/k& 08 
(B) _.k ij fucZU/ku& 20 
(C) Hkkjr es vkfLr;k¡& 25 
(D) mijksDr es ls dksbZ ugh 

42. Which of the following is correctly matched: 
(A)   Suspension of business- 37 
(B) Constitution of Tribunal- 36AH 
(C) Stay of Proceeding- 40 
(D) All the above 

 42. fuEu es ls dkSu lgh lqesfyr gS% 
(A) O;kikj dk fuyEcu& 37 
(B) U;k;kf/kdj.k dk xBu& 36AH 
(C) dk;Zokgh dk LFkxu& 40 
(D) mijksDr lHkh 

43. The Reserve Bank of India Act 1934 contains: 
(A)   61 Section 
(B) 58 Section 
(C) 161 Section 
(D) None of the above 

 43. fjtoZ cSad vf/kfu;e 1934 es lekfgr gS% 
(A) 61 /kkjk, 
(B) 58 /kkjk, 
(C) 161 /kkjk, 
(D) mijksDr es ls dksbZ ugh 

44. Which of the following section of the Reserve 
Bank of India Act 1934 deals with the 
establishment of Reserve Bank: 
(A)   2 
(B) 3 
(C) 4  
(D) 5   

 44. fuEu es ls fjtoZ cSad vkQ bf.M;k vf/kfu;e 1934 dh 
dkSu lh /kkjk fjtoZ cSad dh LFkkiuk ls lEcfU/kr gS% 
(A) 2 
(B) 3 
(C) 4 
(D) 5 

45. Which of the following section of the Reserve 
Bank of India Act 1934 deals with the 
Delegation of powers:  
(A)   54A 
(B) 54 
(C) 55 
(D) 56  

 45. fuEu es ls fjtoZ cSad vkQ bf.M;k vf/kfu;e 1934 
dh dkSu lh /kkjk ‘kfDrvksa ds izR;k;kstu ls lEcfU/kr 
gS% 
(A) 54A 
(B) 54 
(C) 55 
(D) 56 
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46. Which of the following section of the Reserve 
Bank of India Act 1934 deals with the 
Liquidation of bank: 
(A)   52 
(B) 53 
(C) 57 
(D) 58  

 46. fuEu es ls fjtoZ cSad vkQ bf.M;k vf/kfu;e 1934 
dh dkSu lh /kkjk cSad ds ifjlekiu ls lEcfU/kr gS% 
(A) 52 
(B) 53 
(C) 57 
(D) 58 

47. Which of the following is not correctly matched: 
(A)   Capital of bank- 04 
(B) Right to issue bank note- 27 
(C) Transaction in foreign Exchange- 40 
(D) None of the above 

 47. fuEu es ls dkSu lgh lqesfyr ugh gS% 
(A) cSad dh iw¡th& 04 
(B) cSad uksV fuxZr djus dk vf/kdkj& 27 
(C) fons’kh fofu;e esa laO;ogkj& 40 
(D) mijksDr es ls dksbZ ugh 

48. Which of the following is correctly matched: 
(A)   Management- 06  
(B) Re-issue of note- 26 
(C) Penalties- 58 
(D) All of the above 

 48. fuEu es ls dkSu lgh lqesfyr gS% 
(A) izcU/ku& 06 
(B) uksV dk iqu% fuxZeu& 26 
(C) ‘kkfLr;k¡& 58 
(D) mijksDr lHkh 

49. The Reserve Bank of India is constituted for the 
purposes of:  
(A)   Taking over the management of the 

currency 
(B) Carrying on the business of banking 
(C) Both (A) and (B) 
(D) None of the above 

 49. Hkkjrh; fjtoZ cSad dh LFkkiuk mn~ns’; ds fy, dh 
xbZ% 
(A) eqnzk izcU/ku dk izHkkj ysuk 
(B) cSafdax O;kikj dk djuk 
(C) (A) vkSj (B) nksuksa 
(D) mijksDr es ls dksbZ ugh 

50. Which of the following section of The Reserve 
Bank of India Act 1934 is omitted: 
(A)   05 
(B) 59 
(C) 60 
(D) All the above  

 50. fuEu es ls fjtoZ cSad vkQ bf.M;k vf/kfu;e 1934 
dh dkSu lh /kkjk foyksfir gS% 
(A) 05 
(B) 59 
(C) 60 
(D) mijksDr lHkh 

51. A current account is a deposit account for: 
(A)   Traders 
(B) Investors 
(C) Salaried Person 
(D) All the above 

 51. ,d pkyw [kkrk ds fy, ,d tek [kkrk gS% 
(A) O;kikjh 
(B) fuos’kd 
(C) osruHkksxh O;fDr 
(D) mijksDr lHkh 

52. Which of the following account has no limit on 
the number of transaction per day: 
(A)   Current Account 
(B) Saving Account 
(C) Salary Account 
(D) None of the above 

 52. fuEu es ls fdl [kkrs ij izfrfnu laO;ogkj dh dksbZ 
lhek ugh gS% 
(A) pkyw [kkrk 
(B) cpr [kkrk 
(C) osru [kkrk 
(D) mijksDr es ls dksbZ ugh 

53. Which of the following account is zero interest 
bearing account:  
(A)   Saving Account 
(B) Loan Account 
(C) Overdraft Account 
(D) None of the above 

 53. fuEu es ls dkSu lk [kkrk ‘kwU; C;kt okyk [kkrk gS% 
(A) cpr [kkrk 
(B) _.k [kkrk 
(C) vksoj Mªk¶V [kkrk 
(D) mijksDr es ls dksbZ ugh 
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54. Which of the following account has a fixed 
tenure: 
(A)   Current Account 
(B) Saving Account 
(C) Salary Account 
(D) None of the above 

 54. fuEu es ls dkSu lk [kkrk fuf’pr vof/k dk gksrk gS% 
(A) pkyw [kkrk 
(B) cpr [kkrk 
(C) osru [kkrk 
(D) mijksDr es ls dksbZ ugh 

55. The relationship between a banker and a 
customer depends on the type of: 
(A)   Transaction 
(B) Products 
(C) Service 
(D) All the above 

 55. cSadj ,oa miHkksDrk ds e/; lEcU/k izdkj ij vk/kkfjr 
gS% 
(A) laO;ogkj 
(B) mRikn 
(C) lsok 
(D) mijksDr lHkh 

56. In general, the banker is not: 
(A)   The custodian of money 
(B) The beneficiary of money 
(C) Both (A) and (B) 
(D) None of the above 

 56. lkekU;r;k cSadj ugh gS% 
(A) /ku dk laj{kd 
(B) /ku dk ykHkkFkhZ 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

57. A Lien is:  
(A)   The right of debtor 
(B) The right of creditor 
(C) The right of guaranter 
(D) None of the above  

 57. /kkj.kkf/kdkj gS% 
(A) nsunkj dk vf/kdkj 
(B) ysunkj dk vf/kdkj 
(C) izfrHkw dk vf/kdkj 
(D) mijksDr es ls dksbZ ugh 

58. Currie Vs. Misa case is related to: 
(A)   Credit 
(B) Debt 
(C) Lien 
(D) All of the above  

 58. 
 
 

D;wjh cuke ehlk dk ekeyk lEcfU/kr gS% 
(A) lk[k 
(B) _.k 
(C) /kkj.kf/kdkj 
(D) mijksDr lHkh 

59. Jai Kishan Das Jinda Ram Vs. Central Bank of 
India ltd. case is related to: 
(A)   Interest 
(B) Lien 
(C) Advance 
(D) None of the above 

 59. t;fd’ku nkl ftUnk jke cuke lsUVªy cSad vkQ 
bf.M;k fyŒ dk ekeyk lEcfU/kr gS% 
(A) C;kt 
(B) /kkj.kkf/kdkj 
(C) vfxze 
(D) mijksDr es ls dksbZ ugh 

60. Purewal & Associates and other Vs. Punjab 
National Bank and others case is related to: 
(A)   Liability of Bank 
(B) Right of Customer 
(C) Lien 
(D) None of the above 

 60. iwjsoy & ,lksfl,V~l vkSj vU; cuke iatkc us’kuy 
cSad vkSj vU; dk ekeyk lEcfU/kr gS% 
(A) cSad dk nkf;Ro 
(B) miHkksDrk dk vf/kdkj 
(C) /kkj.kkf/kdkj 
(D) mijksDr es ls dksbZ ugh 

61. State Bank of India Kanpur Vs. Deepak Malviya 
case deals with: 
(A)   Banking Instrument 
(B) Banking Service 
(C) Bank’s Lien 
(D) All the above 

 61. LVsV cSad vkQ bf.M;k dkuiqj cuke nhid ekyoh; 
dk ekeyk lEcfU/kr gS% 
(A) cSafdax fy[kr 
(B) cSafdax lsok 
(C) cSad dk /kkj.kkf/kdkj 
(D) mijksDr lHkh 



Series-A LLB-504 / 776 Page - 10 

62. In which of the following Lien  is not permissible 
where is: 
(A)   No mutual Demand 
(B) For safe custody 
(C) For specific purpose 
(D) All of the above 

 62. fuEu es ls fdles /kkj.kkf/kdkj vuqKs; ugh gS tgk¡ gS% 
(A) ikjLifjd ek¡x ugh gS 
(B) lqjf{kr vfHkj{kk gsrq gS 
(C) fof’k”V mn~ns’; gsrq gS 
(D) mijksDr lHkh 

63. Which of the following is not an essential 
element of cheque: 
(A)   In writing 
(B) For certain amount 
(C) On Specified bank 
(D) None of the above 

 63. fuEu es ls dkSu psd dk vko’;d rRo ugh gS% 
(A) fyf[kr es 
(B) fuf’pr /kujkf’k gsrq 
(C) fofuZfn”V cSad ij 
(D) mijksDr es ls dksbZ ugh 

64. The bank may dishonour a cheque when: 
(A)   There are insufficient fund 
(B) Not duly presented 
(C) Presented before the date it bears 
(D) All the above 

 64. cSad psd dk vuknj dj ldrk gS tc% 
(A) i;kZIr /kujkf’k ugh gS 
(B) lE;d :i ls izLrqr ugh gS 
(C) mfYyf[kr frfFk ls iwoZ izLrqr 
(D) mijksDr lHkh 

65. Which of the following is a promissory note: 
(A)   Bank Note 
(B) Currency Note 
(C) Both (A) and (B) 
(D) None of the above 

 65. fuEu es dkSu ,d opu i= gS% 
(A) cSad uksV 
(B) djsUlh uksV 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

66. “I promise to pay B Rs. 500 seven days after 
my marriage with C.” This instrument is:  
(A)   Promissory Note 
(B) Bill of Exchange 
(C) Bank Note 
(D) None of the above 

 66. ^^x ds lkFk vius fookg ds 7 fnu ds i'pkr eS [k 
dks 500 :Œ lanŸk djus dk opu nsrk gw¡A** ;g 
fy[kr gS% 
(A) opu&i= 
(B) fofue;&i= 
(C) cSad uksV 
(D) mijksDr es ls dksbZ ugh 

67. Which of the following section of the Negotiable 
Instrument Act 1881 defines promissory note: 
(A)   3 
(B) 5 
(C) 6  
(D) None of the above   

 67. fuEu esa ls ijØkE; fy[kr vf/kfu;e 1881 dh dkSu 
lh /kkjk opu i= dks ifjHkkf”kr djrh gS% 
(A) 3  
(B) 5 
(C) 6  
(D) mijksDr es ls dskbZ ugh 

68. Who of the following is called Drawer: 
(A)   The maker of bill of exchange 
(B) The maker of cheque  
(C) Both (A) and (B) 
(D) None of the above  

 68. ys[khoky dkSu dgykrk gS% 
(A) fofue; i= dk jpf;rk 
(B) psd dk jpf;rk 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

69. Which of the following section of the Negotiable 
Instrument Act defines cheque: 
(A)   04 
(B) 05 
(C) 07 
(D) None of the above  

 69. fuEu esa ls ijØkE; fy[kr vf/kfu;e dh dkSu lh 
/kkjk psd dks ifjHkkf”kr djrh gS% 
(A) 04 
(B) 05 
(C) 07 
(D) mijksDr es ls dksbZ ugh 
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70. Which of the following section of the Negotiable 
Instrument Act deals with foreign instrument: 
(A)   11 
(B) 12 
(C) 15 
(D) 16  

 70. fuEu es ls ijØkE; fy[kr vf/kfu;e dh dkSu lh 
/kkjk fons’kh fy[kr ls lEcfU/kr gS% 
(A) 11 
(B) 12 
(C) 15 
(D) 16 

71. A Negotiable Instrument means: 
(A)   Promissory Note 
(B) Bill of Exchange  
(C) Cheque 
(D) All the above 

 71. ,d ijØkE; fy[kr ls vfHkizsr gS% 
(A) opu&i= 
(B) fofue; i= 
(C) psd 
(D) mijksDr lHkh 

72. Which of the following section of the Negotiable 
Instrument Act defines negotiable instrument: 
(A)   09 
(B) 12 
(C) 13 
(D) 14  

 72. fuEu es ls ijØkE; fy[kr vf/kfu;e dh dkSu lh 
/kkjk ijØkE; fy[kr dks ifjHkkf”kr djrk gS% 
(A) 09 
(B) 12 
(C) 13 
(D) 14 

73. Which of the following section of the Negotiable 
Instrument Act deals with ambiguous 
instruments: 
(A)   17 
(B) 19 
(C) 21 
(D) 23  

 73. fuEu es ls ijØkE; fy[kr vf/kfu;e dh dkSu lh 
/kkjk lafnX/k fy[kr ls lEcfU/kr gS% 
(A) 17 
(B) 19 
(C) 21 
(D) 23 

74. A minor may: 
(A)   Draw Instrument 
(B) Indorse Instrument 
(C) Deliver Instrument  
(D) All the above 

 74. ,d vo;Ld dj ldrk gS% 
(A) fy[kr jp ldrk gS 
(B) fy[kr dk i”̀Bkadu dj ldrk gS 
(C) fy[kr dk ifjnku dj ldrk gS 
(D) mijksDr lHkh 

75. Which of the following is not correctly matched: 
(A)   Holder- 08 
(B) Endorsement- 15 
(C) Delivery- 46  
(D) None of the above 

 75. fuEu es ls dkSu lgh lqesfyr ugh gS% 
(A) /kkjd& 08 
(B) i”̀Bkadu& 15 
(C) ifjnku& 46 
(D) mijksDr es ls dksbZ ugh 

76. Which of the following is correctly matched: 
(A)   Effect of Endorsement- 50 
(B) Discharge of Liability- 82 
(C) Offence by Companies- 141 
(D) All the above   

 76. fuEu es ls dkSu lgh lqesfyr gS% 
(A) i”̀Bkadu dk izHkko& 50 
(B) nkf;Ro ls mUekspu& 82 
(C) dEifu;ksa }kjk vijk/k& 141 
(D) mijksDr lHkh 

77. The Negotiable Instrument Act contains: 
(A)   147 Sections 
(B) 159 Sections 
(C) 140 Sections 
(D) 139 Sections 

 77. ijØkE; fy[kr vf/kfu;e es lekfgr gS% 
(A) 147 /kkjk, 
(B) 159 /kkjk, 
(C) 140 /kkjk, 
(D) 139 /kkjk, 
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78. A cheque is: 
(A)   A bill of Exchange 
(B) A promissory note 
(C) Both (A) and (B) 
(D) None of the above 

 78. ,d psd gS% 
(A) ,d fofue; i= 
(B) ,d opu i= 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

79. Which of the following section deals with holder 
in due course: 
(A)   08 
(B) 09 
(C) 10 
(D) 11  

 79. fuEu es ls dkSu lh /kkjk lE;d vuqØe /kkjd ls 
lEcfU/kr gS% 
(A) 08 
(B) 09 
(C) 10 
(D) 11 

80. If the indorser signs his name only, the 
indorsement is said to be:  
(A)   In Blank 
(B) In Full 
(C) In Partial 
(D) None of the above 

 80. ;fn i”̀Bkadd dsoy viuk uke gLrk{kfjr djrk gS 
rks i”̀Bkadu dgykrk gS% 
(A) fujad 
(B) iw.kZ 
(C) vkaf’kd 
(D) mijksDr es ls dksbZ ugh 

81. A negotiable instrument dated 30th August 
2020. It made payable three months after 
dates. The instrument is at maturity on: 
(A)   Nov. 3, 2020 
(B) Dec. 3, 2020 
(C) Jan. 3, 2021 
(D) Oct. 3, 2020 

 81. 30 vxLr 2020 dh ,d ijØkE; fy[kr ,sls jfpr gS 
fd og ml frfFk ds rhu ekl i'pkr ns; gSA fy[kr 
ifjiDo gks tkrh gS% 
(A) uoEcj 3] 2020 
(B) fnlEcj 3] 2020 
(C) tuojh 3] 2021 
(D) vDVwcj 3] 2020 

82. A minor may bind:  
(A)   Himself 
(B) Himself with guardian 
(C) All parties except himself 
(D) None of the above 

 82. ,d vo;Ld vkc) dj ldrk gS% 
(A) Lo;a dks 
(B) laj{kd ds lkFk Lo;a dks 
(C) Lo;a ds flok; lHkh i{kdkj dks 
(D) mijksDr es ls dksbZ ugh 

83. If the indorser adds a direction to pay the 
amount mentioned in the instrument to a 
specified person, the indorsement is said to be:   
(A)   In full 
(B) In blank 
(C) Both (A) and (B) 
(D) None of the above 

 83. ;fn i”̀Bkadd fy[kr of.kZr jde fdlh fofufnZ”V 
O;fDr lanŸk djus dk funs’k tksM+ nsrk gS rks 
i”̀Bkadu dgyk,xk% 
(A) iw.kZ 
(B) fujad 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

84. Who of the following endorse a negotiable 
instrument: 
(A)   Maker 
(B) Holder 
(C) Both (A) and (B)  
(D) None of the above   

 84. fuEu es ls dkSu ,d ijØkE; fy[kr dk i`”Bkadu 
djrk gS% 
(A) jpf;rk 
(B) /kkjd 
(C) (A) vkSj (B) nksuks 
(D) mijksDr es ls dksbZ ugh 

85. Which of the following instrument is payable on 
demand: 
(A)   Promissory note in which no time for 

payment is specified 
(B) Bill of exchange in which no time for 

payment is specified 
(C) Cheque 
(D) All the above 

 85. fuEu es ls dkSu lh fy[kr ek¡x ij ns; gS% 
(A) opu&i= ftles lank; dk dksbZ le; 

fofufnZ”V ugh gSA 
(B) fofue;&i= ftles lank; dk dksbZ le; 

fofufnZ”V ugh gSA 
(C) psd 
(D) mijksDr lHkh 
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86. Drawee in case of need means: 
(A)   The maker of bill of exchange 
(B) The person directed to pay  
(C) When the bill of exchange name of any 

person is given in addition to the drawee 
to be resorted to in case of need. 

(D) None of the above 

 86. ftdjhoky ls vfHkizsr gS% 
(A) fofue;&i= dk jpf;rk 
(B) fofue;&i= }kjk lank; djus ds fy, fufnZ”V 

O;fDr 
(C) fofue; i= es Åijoky ds vfrfjDr fdlh 

O;fDr dk uke tks vko’;drk iM+us ij 
ysuxh ds fy, ekuk tkrk gSA 

(D) mijksDr es ls dksbZ ugh 
87. The Law of any foreign country regarding 

cheque shall be presumed as: 
(A)   Indian Laws 
(B) Indian Custom 
(C) British Laws 
(D) None of the above 

 87. psd ds lEcU/k es fdlh fons’kh jk”Vª dh fof/k dh 
mi/kkj.kk dh tk,xh% 
(A) Hkkjrh; fof/k ds :i esa 
(B) Hkkjrh; :f<+ ds :i esa 
(C) fczfV’k fof/k ds :i esa 
(D) mijksDr es ls dksbZ ugh 

88. Which of the following section of the Negotiable 
Instrument Act deals with Dishonour of cheque: 
(A)   137 
(B) 139 
(C) 140 
(D) None of the above 

 88. ijØkE; fy[kr vf/kfu;e dh fuEu es ls dkSu lh 
/kkjk psd ds vuknj ls lEcfU/kr gS% 
(A) 137 
(B) 139 
(C) 140 
(D) mijksDr es ls dksbZ ugh 

89. A court can take cognizance of an offence 
punishable under Negotiable Instrument Act:  
(A)   Upon a written complaint of the holder in 

due course  
(B) Upon a written complaint made by payee 
(C) Both (A) and (B) 
(D) None of the above 

 89. ijØkE; fy[kr vf/kfu;e ds v/khu vijk/k dk 
laKku U;k;ky; }kjk xzg.k fd;k tk ldrk gS% 
(A) lE;d vuqØe /kkjd ds fyf[kr ifjokn ij 
(B) psd ikus okys ds fyf[kr ifjokn ij 
(C) (A) vkSj (B) nksuks 
(D) mijksDr eas ls dksbZ ugh 

90. Which of the following court shall try any 
offence punishable under Negotiable 
Instrument Act: 
(A)   Special Judge 
(B) Chief Metropolitan Magistrate 
(C) Chief Judicial Magistrate  
(D) Metropolitan  Magistrate   

 90. fuEu es ls dkSu lk U;k;ky; ijØkE; fy[kr 
vf/kfu;e ds v/khu n.Muh; fdlh vijk/k dk 
fopkj.k djsxk% 
(A) fo’ks”k U;k;k/kh’k 
(B) eq[; egkuxj eftLVªsV 
(C) eq[; U;kf;d eftLVªsV 
(D) egkuxj eftLVªsV 

91. Every offence punishable under Negotiable 
Instrument Act shall be: 
(A)   Compoundable 
(B) Non- Compoundable 
(C) Both (A) and (B) 
(D) None of the above   

 91. ijØkE; fy[kr vf/kfu;e ds v/khu n.Muh; izR;sd 
vijk/k gksxk% 
(A) ‘keuh; 
(B) v’keuh; 
(C) (A) vkSj (B) nksuks 
(D) mijksDr eas ls dksbZ ugh 

92. Which of the following sections of the Cr. P. C. 
shall apply to all offences triable under 
Negotiable Instrument Act: 
(A)   Section- 262-265 
(B) Section- 225-237 
(C) Section- 238-250 
(D) Section- 251-261 

 92. ijØkE; fy[kr vf/kfu;e ds v/khu fopkj.kh; lHkh 
vijk/kksa ds lEcU/k es n.M izfØ;k lafgrk dh fuEu es 
ls dkSu lh /kkjk, ykxw gksxh% 
(A) /kkjk, 262&265 
(B) /kkjk, 225&237 
(C) /kkjk, 238&250 
(D) /kkjk, 251&261 
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93. Which of the following section of Negotiable 
Instrument Act deals with cognizance of 
offences: 
(A)   141 
(B) 142 
(C) 144 
(D) 147 

 93. ijØkE; fy[kr vf/kfu;e dh fuEu es ls dkSu lh 
/kkjk vijk/kksa ds laKku ls lEcfU/kr gS% 
(A) 141 
(B) 142 
(C) 144 
(D) 147 

94. Which of the following is not correctly matched: 
(A)   Days of grace- 22 
(B) Agency- 27 
(C) Crossing after issue- 125 
(D) None of the above 

 94. fuEu es ls dkSu lgh lqesfyr ugh gS% 
(A) vuqxzg fnol& 22 
(B) vfHkdj.k& 27 
(C) fuxZr ds i'pkr js[kakdu& 125 
(D) mijksDr es ls dksbZ ugh 

95. Which of the following section deals with effect 
of material alteration of a Negotiable 
Instrument:  
(A)   86 
(B) 136 
(C) 87 
(D) 138  

 95. fuEu es dkSu lh /kkjk ijØkE; fyf[kr esa rkfRod 
ifjorZu ds izHkko ls lEcfU/kr gS%  
(A) 86 
(B) 136 
(C) 87 
(D) 138 

96. The maker of a Negotiable Instrument is 
discharged from liability thereon by: 
(A)   Cancellation  
(B) Release 
(C) Payment 
(D) All the above 

 96. ijØkE; fy[kr dk jpf;rk blds nkf;Ro ls 
mUeksfpr gks tkrk gS% 
(A) jn~ndj.k }kjk 
(B) fueqZfDr }kjk 
(C) lank; }kjk 
(D) mijksDr lHkh 

97. A draws a cheque at Ambala on a bank in 
Calcutta. The bank fails before the cheque 
could be presented in ordinary course A is: 
(A)   Discharged 
(B) Not Discharged 
(C) Liable for additional 
(D) None of the above 

 97. d vEckyk es ,d psd dydŸks ds ,d cSad ij 
fy[krk gSA psd ds lE;d vuqØe es miLFkkfir fd, 
tkus ls iwoZ cSad Qsy gks tkrk gSA d gksrk gS% 
(A) mUeksfpr 
(B) mUeksfpr ugh 
(C) vfrfjDr ds fy, nk;h 
(D) mijksDr es ls dksbZ ugh 

98. When notice of dishonor is unnecessary: 
(A)   When it is dispensed with by the party 

there to 
(B) In the case of promissory note which is 

not negotiable 
(C) To charge the drawers when the 

acceptor is also a drawer 
(D) All the above 

 98. dc vuknj dh lwpuk vuko’;d gS% 
(A) tcfd mlds gdnkj i{kdkj dks mlds fn, 

tkus ls vfHkeqfDr ns nh gSA 
(B) ml opu&i= ds ckjs es tks ijØkE; ugh gSA 
(C) ys[khokyksa dks Hkkfjr djus ds fy, tcfd 

izfrxg̀hrk mldk ys[khoky Hkh gSA 
(D) mijksDr lHkh 

99. The chapter XVII inserted in the Negotiable 
Instrument Act containing sections 138 to 142 
came into force on: 
(A)   01.04.1989 
(B) 01.01.1989 
(C) 01.07.1989 
(D) 01.11.1989 

 99. ijØkE; fy[kr vf/kfu;e es vUr% LFkkfir v/;k; 17 
ftlesa /kkjk, 138&142 lekfo”V gS] izorZu esa vk;k% 
(A) 01.04.1989 
(B) 01.01.1989 
(C) 01.07.1989 
(D) 01.11.1989 

100. Adalat Prasad Vs. Rooplal Jindal and others 
case is related to:  
(A)   Holder in due course 
(B) Endorsement 
(C) Dishonor of Negotiable Instrument 
(D) Power of the Reserve Bank of India 

 100. vnkyr izlkn cuke :i yky ftUny vkSj vU; 
ekeyk lEcfU/kr gS% 
(A) lE;d vuqØe /kkjd ls 
(B) i”̀Bkadu ls 
(C) ijØkE; fy[kr dk vuknj ls 
(D) Hkkjrh; fjtoZ cSad dh ‘kfDr ls 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for the 

error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems correct 

to you, darken that option number in your Answer Booklet (O.M.R 

ANSWER SHEET) completely with black or blue ball point pen. If any 

examinee will mark more than one answer of a particular question, then 

the first most option will be considered valid.    

3. Every question has same  marks. Every question you attempt correctly, marks 

will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R ANSWER 

SHEET). Answer marked anywhere else other than the determined place will 

not be considered valid. 

5. Please read all the instructions carefully before attempting anything on Answer 

Booklet (O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the examination 

room.   

7. There is no negative marking. 

Note:  On opening the question booklet, first check that all the pages of the question 

booklet are printed properly in case there is an issue please ask the examiner to 

change the booklet of same series and get another one.  

 


